Woodhouse Primary School: written methods
Year group: Year 5
Method: column subtraction
(up to 5 digits with decimals)

Questions
74321 -13934 = 11. 362.7-158.3=
52413 - 23120 = 12. 629.9-182.3=
85232 — 71401 = 13. 903.4-561.8 =
32653 — 18341 = 14. 6.327-4.79=
53145 - 32672 = 15. 527.31-85.16=
46581 — 13623 = 16. 72.926-9.758 =
85913 — 33575 = 17. 1752.1-984.5=
29314 - 13023 = 18. 12.072-5.635=
25521 -12014 = 19. 7283.5-1962.7 =
91789 — 58816 = 20. 7003-627.9 =




Answers

1. 60387 11. 204.4
2. 29293 12. 447.6
3. 13831 13. 341.6
4. 14312 14. 1.537
5. 20473 15. 442.15
6. 32958 16. 63.168
7. 52338 17. 767.6
8. 16291 18. 6.437
9. 13507 19. 5320.8
10. 32973 20. 6375.1




